
Γ, φ ` φ ax
Γ ` ⊥
Γ ` φ ⊥E Γ ` > >I

Γ ` φ1 Γ ` φ2

Γ ` φ1 ∧ φ2
∧I

Γ ` φ1 ∧ φ2

Γ ` φi
∧i

E

Γ ` φi

Γ ` φ1 ∨ φ2
∨i

I

Γ ` φ1 ∨ φ2 Γ, φ1 ` ψ Γ, φ2 ` ψ
Γ ` ψ ∨E

Γ, φ ` ψ
Γ ` φ⇒ ψ

⇒I

Γ ` φ⇒ ψ Γ ` φ
Γ ` ψ

⇒E

Γ, φ ` ⊥
Γ ` ¬φ

¬I

Γ ` ¬¬φ
Γ ` φ raa

Γ ` ¬φ Γ ` φ
Γ ` ⊥

¬E

Γ ` φ[x := t]

Γ ` ∃x.φ ∃I

Γ ` ∃x.φ Γ, φ ` ψ
Γ ` ψ ∃E (x 6∈ fv(Γ, ψ))

Γ ` φ
Γ ` ∀x.φ ∀I (x 6∈ fv(Γ))

Γ ` ∀x.φ
Γ ` φ[x := t]

∀E

Figure 1: Déduction naturelle pour la logique classique du premier ordre
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